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(1) DWAE
(7) HHORAEAE
1 #MhoeEsr 77— Kak v — STV AV —L0mEy et Bae AT
Mie, IRE L, WEELEZbOZESoT AR E LE LT,

(1) WAE

INTHFRERNSH) 3-5g 210 &0 K100 mL, NEE#EME (727 VL7
Fds) 1pg, ~FH20ml Z200x, 1 0BAEYTA XL, 10 0[RS 9 Lz
. w0 BE (2,000 rpm, 10 43fH) LE L7, EiEEZAE L, AR 50 mL % ODS
H—hrV Tl AC2 H— R U v UEEESE DT AAM L, 77 UAT S
K& AC2H—bhU v VIR ESEE L, AC2H— KU v UEERDIL, &5
HAEBRSETCKRDERE L%, AX /—/L5mL Tr 27 U7 I RERH
SHFE L, BHIRICIOW/NVN% Y =F Lo 7 ) a—)Ld A X ) —VIEEH) 0.1 mL
Nz, WIEREMGES, SE IS E Lz, BEWE A X 7 —/L 1 mL IR SH,
SWN%FH 2 he Ra—Ld A% ) — /LK 0.1 mL & 0.3 mol/L ¥EERD A &% ) —
VEEHR 0.1 mL Z 1%, 40°CC 2 REfALE Uik b UE Uie, RISIR 2 P8tz [E
SR, AKSmL LT RNY AR 2g 24, BEBE=TF /L 2mL T L, FEfg
TIFNVEERBIRIRE L, A7 a~ 7T 7 H&50E (GC-MS) TEEL
L7z, GC-MS OFMFIX, & 1 0@ TT,

K1 FOULT S FAWICET S GC-MS DEHE

7 A 025mmid. X 30m f&E 0.25 um
HEATFE A7) v FLA
717 KR AEHEA D : 250°C
RS
HERERE (43) 7 ARE (°0)
0 40
2 40
15 300
H A& ~ U 72 1 mL/min
MS A A Abik - El
A EE B T2 UNT I RFEER Y 251, 234
(m/z) T7UNT IR aiEER Y 254




(2) MREDRFEFER
(7) RERARUVEERSR
TE BT R 2 i FE A OFE RS A2 10 R D SR LT L7z & D e —7
A ORI E B OIEER AN SR I VR L E LT,

ARG B H RS =3.3 X B (R 72
TEEFRAR=10 X AT (R &

®2 RUEBRRUEERR

AR S b PR A (mg/kg) | EEIRA (mg/kg)
KT "NAF w7, 774 RKRT 0.01 0.03
k., HL—7 ' '

(4) 12 R MEIRE
BEL KT FAF 2, I L—y) 1T, F3IR LI 2 EITH Y T 5
DT 7 VAT I NEEHER A TN LM 2 BE e, T ENORET 7 [T
S, EREHOREICIST B EUR & O R zE (RSDy) % Bt L
Uie. PHEMGERIIFFATE /M THD - L 2R L E L,

£33 FEFMEINEROER

AR AR G R WNGREE | [ECROHF | PEEIReR RSDW%
(mg/kg) (%) (%)

KT b AF v 0.03 78 — 88 81 4.9
0.20 88 — 96 92 3.1

B L= 0.03 89 — 108 98 5.4
0.20 88 - 98 93 6.6

(77) BIEDTREMNS

REL (R 7 AT w7 HL—nAw) (2, 727 U7 I FEERERML,
FKAITRLE 2 BEICHYT2EOT 7 VAT I FEELREEZHRL, 20
Z 7RO IR LR A B D 3 BRENCHER L, ENHIEE (RSD) &H
MLUE L, RSDIUIFFATZHHPATHL Z L 2R L E L,



x4 BYBLERMSHHLE-ZERBHRFE (RSDI)

Ao G I £ (mg/kg) RSDi(%)

K7 KA F v 0.03 7.5
0.2 5.7

7 L= 0.03 12.6
0.2 3.5






